



This price quote is good for 60 days. BFW High School Publishers is committed to delivering the best value for the program you have adopted. Pricing herein may reflect package discounts. Removing or editing components may cancel any package discounting applied to component items. Prices subject to change, including annual increases in November. Shipping fees are estimated; actual shipping fees may vary.

Purchase Orders: Please attach a copy of this price quote to your purchase order and submit Your Purchase Order To:

MPS 16365 James Madison Highway Gordonsville, VA 22942 Email: highschool@mpsvirginia.com / Toll Free: (540) 672-7744

FREE SHIPPING APPROVED BY MANAGER

1936 Carlotta Dr

Concord, California 945191358

 Quote Number
 00091978
 Prepared By
 Katrina Torres

 Created Date
 4/17/2023
 Phone
 (845) 337-8286

 Email
 ktorres@bfwpub.com

Contact Name Megan Gerdts Phone (925)682-8000X4040

Bill To Mt Diablo Unified School Dist Ship To Mt Diablo Unified School Dist

1936 Carlotta Dr 1936 Carlotta Dr

United States Concord, California 945191397

United States

	Itemized Pro	roducts								
	ISBN	EAN	Product	Edition	Author	Line Item Description	Sales Price	Quantity	Total Price	
	1319281168	1319281168 9781319281168 Myers' Psychology 4		4	David G. Myers; C. Nathan DeWall; Elizabeth Yost Hammer		USD 151.97	525.00	USD 79,784.25	
131	1319539815	9781319539818	LaunchPad for UPDATED Myers' Psychology (Transition Edition; One-Use Online; Add-On)	3	David G. Myers; C. Nathan DeWall	8-yr package price. Regular price 176.97	USD 56.00	525.00	USD 29,400.00	
	1319508871	9781319508876	LaunchPad for Myers' Psychology (Transition Edition; Seven-Use Online)	4	David G. Myers; C. Nathan DeWall; Elizabeth Yost Hammer	Price paid for in Updated 3e version	USD 0.00	525.00	USD 0.00	
	1319475841	9781319475840	Strive for a 5: Preparing for the AP® Psychology Exam	4	David G. Myers; C. Nathan DeWall; Elizabeth Yost Hammer	Package Price. Regular price 38.00	USD 15.00	2,100.00	USD 31,500.00	
	1319113311	9781319113315	Biology for the AP® Course	1	James Morris; Domenic Castignetti; John Lepri; Rick Relyea		USD 128.97	180.00	USD 23,214.60	
	1319548423	9781319548421	SaplingPlus for Biology for the AP® Course (Eight-Use Online; Pack Add-On)	1	James Morris; Domenic Castignetti; John Lepri; Rick		USD 56.00	180.00	USD 10,080.00	

Relyea





131935663X	9781319356637	Ideas in Argument	1	John R. Williamson; Mary Jo Zell; Elizabeth A. Davis		USD 100.39	360.00	USD 36,140.40
131954844X	9781319548445	HS LaunchPad for Ideas in Argument (Eight-Use Online; Add-on)	1	John R. Williamson; Mary Jo Zell; Elizabeth A. Davis		USD 56.00	360.00	USD 20,160.00
1319471897	9781319471897	AP® English Language Skills Practice Workbook for Ideas in Argument	1	John R. Williamson; Mary Jo Zell; Elizabeth A. Davis	Package Price	USD 10.00	1,440.00	USD 14,400.00
1319409326	9781319409326	Krugman's Economics for the AP® Course	4	David Anderson; Margaret Ray		USD 172.42	225.00	USD 38,794.50
1319547443	9781319547448	SaplingPlus for Krugman's Economics for the AP® Course (Eight-Use Online; Pack Add-On)	4	David Anderson; Margaret Ray		USD 56.00	225.00	USD 12,600.00
1319475485	9781319475482	Strive for a 5: Preparing for the AP® Microeconomics Exam	4	David Anderson; Margaret Ray	Package Price	USD 15.00	900.00	USD 13,500.00
131926929X 9781319269296 UPDATED Ver Statistics	UPDATED Version of The Practice of Statistics	6	Daren S. Starnes; Josh Tabor		USD 159.96	250.00	USD 39,990.00	
131954312X	9781319543129	UPDATED Version of SaplingPlus for The Practice of Statistics (Seven-Use Online; Add-On)		Daren S. Starnes; Josh Tabor		USD 49.00	250.00	USD 12,250.00
1319283098	9781319283094	UPDATED Version of Strive for a 5: Preparing for the AP® Statistics Exam	6	Daren S. Starnes; Josh Tabor	Package Price	USD 15.00	1,000.00	USD 15,000.00
131940930X	9781319409302	Ways of the World for the AP® World History Modern Course Since 1200 C.E.	5	Robert W. Strayer; Eric W. Nelson		USD 125.16	400.00	USD 50,064.00
1319536506	9781319536503	LaunchPad for Ways of the World for the AP® World History Modern Course Since 1200 C.E. (Eight-Use Online; Pack Add-On; High School)	5	Robert W. Strayer; Eric W. Nelson		USD 56.00	400.00	USD 22,400.00
1319513476	9781319513474	Thinking Through Sources for Ways of the World for the AP® World History Modern Course Since 1200 C.E.	5	Robert W. Strayer; Eric W. Nelson	Package Price	USD 10.00	1,600.00	USD 16,000.00

Itemized Product Total: USD 465,277.75

Free Product: Please include in your PO:

ISBN	EAN	Free Product	Edition	Author	Net Price	Quantity	Your Price
1319475477	9781319475475	Teacher's Edition with Online Teacher Resources for Myers' Psychology	4	David G. Myers; C. Nathan DeWall; Elizabeth Yost Hammer	USD 490.00	7	\$0.00
				David G. Myers; C.			





1319475957	9781319475956	ExamView Assessment Suite for Myers' Psychology	4	Nathan DeWall; Elizabeth Yost Hammer	USD 490.00	7	\$0.00
1319362575	9781319362577	Teacher's Edition with Online Teacher Resources for Updated Myers' Psychology for the AP® Course	3	David G. Myers; C. Nathan DeWall	USD 490.00	7	\$0.00
1319362583	9781319362584	ExamView Assessment Suite for Updated Myers' Psychology for the AP® Course	3	David G. Myers; C. Nathan DeWall	USD 490.00	7	\$0.00
1319114261	9781319114268	Teacher's Edition with Online Teacher Resources for Biology for the AP® Course	1	James Morris; Domenic Castignetti; John Lepri; Rick Relyea	USD 490.00	5	\$0.00
1319114318	9781319114312	ExamView Assessment Suite for Biology for the AP® Course	1	James Morris; Domenic Castignetti; John Lepri; Rick Relyea	USD 490.00	5	\$0.00
1319418813	9781319418816	Teacher's Edition with Online Teacher Resources for Ideas in Argument (Single Item)	1	John R. Williamson; Mary Jo Zell; Elizabeth A. Davis	USD 490.00	7	\$0.00
1319418821	9781319418823	ExamView Assessment Suite for Ideas in Argument	1	John R. Williamson; Mary Jo Zell; Elizabeth A. Davis	USD 490.00	7	\$0.00
131947585X	9781319475857	Teacher's Edition with Online Teacher Resources for Krugman's Economics for the AP® Course	4	David Anderson; Margaret Ray	USD 490.00	5	\$0.00
1319478514	9781319478513	ExamView Assessment Suite for Krugman's Microeconomics for the AP® Course	4	David Anderson; Margaret Ray	USD 490.00	5	\$0.00
131926932X	9781319269326	UPDATED Teacher's Edition for The Practice of Statistics	6	Daren S. Starnes; Josh Tabor	USD 490.00	5	\$0.00
1319269354	9781319269357	UPDATED ExamView Assessment Suite for The Practice of Statistics	6	Daren S. Starnes; Josh Tabor	USD 490.00	5	\$0.00
1319493807	9781319493806	Teacher's Edition with Online Teacher Resources for Ways of the World for the AP® World History Modern Course Since 1200 C.E.	5	Robert W. Strayer; Eric W. Nelson	USD 490.00	7	\$0.00
1319533930	9781319533939	Examview for Ways of the World for the AP® World History Modern Course Since 1200 C.E.	5	Robert W. Strayer; Eric W. Nelson	USD 0.00	7	\$0.00
1319217990	9781319217990	Implementation Training (High School; BFW Employee)	1	Professional Development	USD 1,537.50	1	\$0.00

Total Available for Purchase USD 0.00

Shipping Information

Schools are typically tax exempt however if your school is **NOT** tax exempt, please note that your local tax rate will apply to this quote. Shipping Location No Shipping

Shipping Fees: USD 0.00
Special Shipping Fees: USD 0.00
Total Shipping Fees: USD 0.00

Grand Totals





Instructor Resources

Digital Adopters: Instructor resources will be available within your product; no action needed **Print Only Adopters:** Instructor resources can be unlocked by visiting www.bfwpub.com/AdopterTRM

Sole Source Statement: Competition in providing the above named products is precluded by the existence of a copyright. There are no like products available for purchase that serve the same purpose because of exclusive distribution/marketing rights. These products should be purchased directly from BFW (MPS) or its approved depositories. Purchases from any other source would not ensure the item's authenticity/warranty. Unapproved 3rd party vendors cannot provide packages, digital materials or teaching materials. BFW (MPS) cannot provide these items to a school if the student edition has been purchased through a third party. We are the sole source for these items and packages.

Note for Canadian Users: Please note that invoices are issued in CAD, but if payment is to be made via credit card, it will be processed through our US Bank and an exchange rate fee will be applied.

NOTE: If you plan to place an order and will require a signed data agreement, please send to your rep as soon as possible. Agreement reviews take an average of 1-3 weeks to review.